Answers to inference means
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1.

One-Sample T: Pulse1

Test of mu = 70 vs mu not = 70

Variable          N      Mean     StDev   SE Mean

Pulse1           92     72.87     11.01      1.15

Variable             95.0% CI            T      P

Pulse1        (   70.59,   75.15)     2.50  0.014

With a p-value of .014, there is reason to believe that there is a difference in the mean resting pulse rate between this sample and the adult population.
2.  
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Two-Sample T-Test and CI: Pulse1, Smokes

Two-sample T for Pulse1

Smokes       N      Mean     StDev   SE Mean

1           28      75.0      13.5       2.6

2           64     71.94      9.70       1.2

Difference = mu (1) - mu (2)

Estimate for difference:  3.06

95% CI for difference: (-2.65, 8.77)

T-Test of difference = 0 (vs not =): T-Value = 1.08  P-Value = 0.285  DF = 39

With a p-value of .285, there is no reason to believe that there is a difference in the mean pulse rate for smokers vs non-smokers.
3.
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Two-Sample T-Test and CI: after pulse, smoke

Two-sample T for after pulse

smoke        N      Mean     StDev   SE Mean

1           12      90.3      14.4       4.2

2           23      93.7      21.1       4.4

Difference = mu (1) - mu (2)

Estimate for difference:  -3.45

95% CI for difference: (-15.81, 8.92)

T-Test of difference = 0 (vs not =): T-Value = -0.57  P-Value = 0.574  DF = 30

With a p-value of .574, there is no reason to believe that there is a difference in pulse rate between smokers and non-smokers after exercise.
NOTE: Think – Show – Tell method
Check assumptions/conditions.  Identify test to be used.

Show the Minitab calculations.
Interpret the results in context.
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